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B.Com. DEGREE EXAMINATION, NOVEMBER 2017.
III Year — V Semester
Core Major- Paper XIII  -  COST ACCOUNTING
Time : 3 Hours												Max. Marks: 75
SECTION A – (10 × 2 = 20 marks)
Answer any TEN questions
1. What is cost sheet?
2. What is meant by ‘Profit Centre’?
3. What is a Tender?
4. From the following calculate the cost of goods sold:
	Cost of production `1,83,000; opening stock of finished goods `71,500; closing stock of     
	finished goods `42,000.
5. What is Normal Idle time?
6. State the meaning of Absorption.
7. What is meant by machine hour rate?
8.       Find out the value of FIFO:
		Opening stock		400 units @ `10 per unit
		Purchases		         500 units @ `11 per unit
	Issue                              600 units.
9.        Ascertain the prime cost from the following:
Direct wages `25,000; Chargeable expenses `2,500; Opening stock of raw materials `5,000; Raw materials bought `30,000; Closing stock of raw materials `10,000; Raw materials returned to    supplier `750.
10.       Ascertain the Bonus under rowan scheme:
		Standard time	:	   12 hours
		Actual time	:	     8 hours
		Time rate		:	   `1.50 p/hr.
11. The under mentioned details relate to the quarter ended 30th September 2010:
		Works expenses  ` 80,000
		Finished production 18,000 units
		Work-in-progress (50% complete) 4,000 units
         Ascertain overhead absorption rate per unit of production.
12. Find out the amount of rent apportioned to each department:
		Rent: 	 `8,000
		Space occupied by departments:
    A -   100 sq feet      B-200 sq feet	C – 300 sq feet	D – 400 sq feet.

SECTION B – (5 × 5 = 25 marks)
Answer any FIVE questions
13. Explain the advantages of material control.
14.  Prepare a Cost Sheet from the following details :
Raw materials opening stock `60,000; Raw materials purchased during the year `1,40,000; Raw materials closing stock `40,000; Wages `40,000; Works expenses are charged at 100% of wages; Office overhead is charged at 25% on works cost and Selling overhead at 10% on works cost; Sales amounted to `3,60,000.

 (
[P.T.O.]
)
15.  Calculate the normal and overtime wages payable to a workman from the following data:
          Days                               Hours worked
                   Monday                                     8
          Tuesday                                    10
          Wednesday                                9
          Thursday                                  11	
                   Friday                                       9
          Saturday                                    4
          Normal working hours: - 8 hours per day 
          Normal rate:                 - `0.50 per hour 
          Overtime rate: Up to 9 hours in a day at single rate and over 9 hours in a day at    
          Double rate or up to 48 hours in a week at single rate and over 48 hours at double      
          Rate, whichever is more beneficial to the workman.
16. S and Co. has purchased and issued material X as under :
 1998 May 1 Opening Stock 1,000 units at `5 per unit
	     3 Purchased 250 units at `6 per unit
	     5 Purchased 350 units at `6.5 per unit
10  Issued 400 units 
	Show Stores Ledger when the issue is priced under HIFO.
17. Kumaresh Ltd., has three production departments 'A', 'B', and 'C' and two service departments 'D' and 'E' 
 		  The following figures are extracted from the records of the company:                                                                         
	
	`

	Rent and rates
	  5,000

	Indirect wages
	  1,500

	Depreciation of machinery
	10,000

	General lighting
	     600

	Power
	  1,500

	Sundries
	10,000


    		  Following further details are available:
	      
	Total
	A
	B
	C
	D
	E

	Floor space in square feet
	10,000
	2,000
	2,500
	3,000
	2,000
	500

	Light points
	60
	10
	15
	20
	10
	    5

	Direct wages (`)
	10,000
	3,000
	2,000
	3,000
	1,500
	500

	H.P of machines
	150
	60
	30
	50
	10
	-

	Value of machinery (`)
	2,50,000
	60,000
	80,000
	1,00,000
	5,000
	5,000


        Apportion the cost to various departments on the most equitable basis by preparing a primary
departmental distribution summary
18. Write a note on ABC analysis.
19. From the following particulars calculate the Machine Hour Rate for a drilling machine:
Cost of the drilling machine `42,000;   Estimated scrap value `2,000;
Estimated working life   10 years of 2,000 hours each;   Running time for a 4 week period 150 hours Estimated repairs for life `10,000; Standing charges allocated to this machine for a week `300; Power consumed per hour 5 units @ 10 paise per unit.



SECTION C – (2 × 15 = 30 marks)
Answer any TWO questions
20.  How do you Classify Cost?      
21. From the following particulars work out the earnings for the week of a worker under:
(a) Straight piece  rate
(b) Differential piece  rate 
(c) Halsey premium system
(d) Rowan plan
	Number of working hours per week 
	       48

	Wages per hour 
	`3.75
 3.75

	Normal time per piece 
	20 minutes 

	Rate per piece
	`1.50 


	Normal output per week
	120 pieces 

	Actual output for the week
	150 pieces 


       Differential piece rate 80% of piece-rate when output is below standard and 120% when above      
       standard.

22. Two materials A and B are used as follows:
	Normal consumption  		-	   50 units per week each.
	Minimum consumption 	-	  25 units per week each
	Maximum consumption 	-	  75 units per week each. 
	Re-order quantity 		A	  300 units 
							B	  500 units
	Reorder period			 A 	  4 to 6 weeks
				                            B       2 to 4 weeks
	Calculate 
(a) Re-order level
(b) Minimum level
(c) Maximum level
(d) Average stock level.
23. The following transactions occur in the purchase and issue of a material.
		Jan 		2		Purchased		4000 units at ` 4.00 per unit
				20		Purchased		500  units at `5.00 per unit
		Feb		5		Issued		2,000 units
				10		Purchased		6,000 units at `6.00 per unit.
				12		Issue			4,000 units
		March	2		Issued		1,000 units
				5		Issued		2,000 units
				15		Purchased		4,500 units at `5.50 per unit
				20		Issued		3,000 units
	Prepare stores ledger account using.
            a) Simple average method	     	b) Weighted Average method.
						
							——————
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